Linear Motion Practice
Name: _______________________

Four vehicles travel through Stittville, NY at different speeds. The first vehicle is traveling 71 mph.  The second is traveling 53mph.  The third driver is traveling 41 mph. The last vehicle is traveling 35 mph. Each driver is distracted from the road for 2.0 s.  

1. Determine each speed in m/s. (1.0 mile = 1,600 m) Show your conversions.
2. Determine the distance traveled by each vehicle during the time the driver was distracted. Show all formula and substitutions with units.  Express the answer with proper units.
3. Complete the table below.

	Initial speed (mph)
	Initial speed (m/s)
	Distance (m)

	71
	
	

	53
	
	

	40
	
	

	35
	
	


4. Create a graph of the data.  Place initial speed (m/s) on the x-axis and distance travelled on the y-axis. Use a best fit trendline.

5. Determine the slope of this graph.  Show all formula and substitutions with units.

6. Based upon the units that you obtained, what physical significance, if any, does the slope have?

